41/0 after 5. Al (Fast med) starts the 6th over with a that field has no men outside the circle. Smash
two fours over cover and field doesn’t change. Another four over extra cover - still not men outside
the circle.

53/0 after 6. Al starts with three men out.4 and 3 off the first two balls.Roy on striker (27 off 19) and
back to the field with no men outside the circle. 4 through cover and a change to 3 men out.

69/0 after 7. Al starts with a field with three men out but has two slips and a gully. After 1 and 3 a
switch to four men out to Roy (32 off 22) who had none outside the circle. 3 men out to Hales (40
off 22).

80/0 after 8. Bowler: fast med. Three men out to Hales 41 off 24. Four me out to Roy 37 off 24. No
run, ball smashed to mid on change to five men out to Hales (42 off 26).

83/0 after 9. Bowler: leg spin. Three men out to Hales 43 off 28). Four out to Roy (38 off 26). Ball
five of the over Hales on strike and they bring in a silly mid on as well as a 1st slip to Hales.

93 for 0 after 10. Bowler: off spin. Three men out to Roy (40 off 28). Hales 51 off 32 three men out,
slip and a gully. 12 off first four, back to back four for Roy, still three men out. Another 4 now 53 off
32 field changed, still three men out and a slip.

110/0 after 11. Bowler: leg spin. Roy 54 off 33, Three men out and a slip. Two runs. Field changes
(3 out, now a slip and gully). Three dot balls. Six over deep backward point no change to field.

119/0 after 12. Bowler: off spin. Roy 63 off 39. Three men out, slip and a gully. 4 smashed over
square leg. Field changes to five men out. Hales back on strike 54 off 33 - three men out, slip and
a gully in. Four over extra cover - no field change. Two through cover point field changes to five
men out.

135/0 after 13 bowler: Fast med. Hales 61 from 36 - five men out. Roy - 72 off 42 - five men out.
Roy out. The five men out has a forward point and deep third man - anything short can be creamed
through backward point. After doing that twice with Hales (70 from 40) the field changes to two
slips and a gully.

144/1 after 14, bowler: leg spin. Root new batsman on strike (three out and a slip). No run, field
changes to second ball a 3 out field with slip and gully. Back to back fours - field changes to five
men out (Root 8 from 3). Hales 70 from 41 - five men out.

155/1 after 15, bowler: fast med. Root on strike 10 from 5. Five out.

164/1 after 16, bowler: fast Root (19 from 11) - five men out. Hales 71 off 42 - five men out. Root
out. Buttler first ball (five out)

169/2 after 17, bowler: fast. Hales - five men out. Buttler five men out.

179/2 after 18, bowler fast. Butterl 4 from 3 - five out. Last ball of the over. Hales on 82 from 50 -
three men out - Hales out.

186/3 after 19, bowler fast, Morgan 0 from 0 - 3out. Two fours off first two balls - no field change.
Buttler (10 from 7 )on strike - five me out. Morgan back on strike 9 from 3 - five men out. Morgan
out. Buttler dropped then ran out on the last ball. Finished 198 for 5.



